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S (M2) (%) | XD(%) | XD(M2) |TB(TANG)| TICHXD [SD(LAN)| (HO) |(NGUOY)

R $ yd 1 _|[DAT CHIA LO LIEN KE LK 86570 5025| 886 7.673,7 5| 383687 44| 76 304

< f 1,1 |DATNHA O LIEN KE 1 1KO01 1.511,6 877 87,4 1.321,2 5 6.605,9 44 12 48

’% ,-' 1,2 |DATNHA O LIEN KE 2 1K02 3.184,1 18,48 90,0 2.867,2 5| 143362 45 32 128

\ “3, 1,3 |PATNHA O LIEN KE 3 1K03 1.742,0 10,11 87,6 1.525,2 5 7.626,2 44 14 56

1,4 |DATNHA O LIEN KE 4 1K04 22193 12,88 883 1.960,1 5 9.800,4 44 18 72
2 |DAT CAY XANH, CANH QUAN X 854,7 4,96
21 |PATCAYXANH 1 X1 612,2 3,55
2,2 |PATCAYXANH2 X2 125,0 073
23 |PATCAYXANH3 X3 117,5 0,68
3 |[pATBAIDO XE P 8482 492
3,5 [PATBAIDOXEL P1 753,2 437
AT BAI DO XE 2 P2 950] 055
3 |DAT GIAO THONG - HTKT- TALUY 6.867,6 | 3986
3,1 [PAT GIAO THONG 3.8528 | 2236
3,2 |DAT HA TANG KY THUAT 490,5 2,85
3,3 [PATTALUY 630,0 3,66
3,4 |DATHANH LANG 18943 | 11,00

TONG CONG 17.227,4| 10000| 445 7.673,7 4,0/ 383687 22| 76 304
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